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AEXNEZE FAEBA MB(RLEAILELE S H) 241,970 279,520 A 37,550
ANSXHSEAE2D AP H| 21,200 23,000 A 1,800
401 AlEHIZL 2 0HY| 20,000 23,000 A 3,000
01 Al& H| 20,000 23,000 A 3,000
OFA 24228 Y S =3 A
20,000,000 x 1Al 20,000
405 XHAHFEIEHI 1,200 0 1,200
01 AL 2B F S| 1,200 0 1,200
ORIgNE U422 ¥ NEH2 2UE Z2lgD|
2 600,000 *2CH 1,200
s X 22l 49,266 63,546 N 14,280
201 LBt Y| 34,626 41,746 NT,120
01 AP 22| d| 25,350 32,470 ANT,120
Ogbt4=24| 23,910
— NS 2AE HEHAS nsis ML}
M= 5,000& *600& 13l 3,000
— RoEXXE, s EHPEAHEHAINE LH A
sWE E29IE HE 110,000 64 23| 1,320
— XEX e 28 HE2 EHIE F
& 110, 000& *6H A %23] 1,320
— 29SS 22 g2 3¢ 21E2(a4) M=
350! *5,0000H 1,750
— OB XXE A WA oL AEIH MEH
800 +1,0000H 800
— 220l SEYH|(fEY, SR AtHA™E!)
30,000 *303| 900
—NEAsSE2HE 22X ME S(228)
30,000 153 x12& 5,400
— 8ol IsSi HEASE ¢UHE HEH
100 x20, 0000H 2,000
— MHZ220 NS £ AEIH ME
1,000 *3= 20004 600
—HAJ|H SEFII2E EAdIE H &
110, 000& *6IH A %23] 1,320
—2A48D|H XA HE S PVC F
500 3, 0000H 1,500
—=HIIE 22X 7 110,000& »108F A 1,100
— AABHSE & Y R 1,500 *4000H 600
—BHSUHIIE JIH L NHFSEHS dHAIA
g AX&H SXAE2=H 200,000 x53| 1,000
—YHPY 2ASH, 220 7Y
10,000 = 1004 1,000




SH: HSASSASAL
o HYSSAMYL 29

S ANSXHSE2 UIANHA MB(ULEASELIAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
—XNsEX g22d T APY 30,000 x10 300
O=&H| 1,440
QoUW BHIXHANY BSOS S
= 0§ &1 8,000 x5H 3 x12& 1,440
02 E2=2=2%H| 9,276 9,276 0
OZ2Z222 ¥ HMA 9,276
—Asi2eY AN § S0 REE
2,700 1500 x 12& 4,860
— 2BE NS SX22AA8 S22
308,000 x12& 3,696
— RHYX SSSUHE AIESE
60,000 x1CH~12& 720
202 044 2,240 6,900 AN 4,660
01 2L HI 2,240 6,900 A4 660
Oy SUYx L PE 28 AAHa 29
o 1l 100,000& *2H x4 3| 800
OXsxt2eld ALxe XNE S oyl
20,000 »3H 2L x 128 1,440
204 &R 4 AH| 2,400 0 2,400
03 EHYLE2AY 2,400 0 2,400
OSAMNIEELYERA 200,000 x1H x12& 2,400
301 et ™M= 10,000 9,900 100
12 J|EtE A= 10,000 9,900 100
ORcexxg Aoz K= 30,000 *90CH 2,700
OXNsxEsgEas MDA ZAaZ
100,000 x10H 1,000
Oolgad AH EAZ 25,000 %252 «1H 6,300
NEXNIVNEHES 20 - A 171,504 192,974 N21,470
201 gEt24Hy| 163,004 165,974 N2,970
01 AP 2t 2] d| 43,852 46,319 N2,467
O HA AFE & D|2HF 0 eHUHE [ &
150 «3,0000 x12& 5,400
O9REY It E32M HE 603 *7000Hx12& 504
OZAXS DEE 23 DXA HZE
602 *3000H x12& 216
O9fEE 0JtY e 28 DKM M
602 *8000H x12& 576
OlElE 21 DXA MZE 60 *4,0000Hx12& 2,880
OlElEg OXA &8 4ol Zely EY F#
el 237,000 *3CH x4 3| 2,844
OIDXNA Qletol 58 /260 A2 ¢
237,000& x1CH x43] 948
AXNXNSEE =82 S 160,000 10~ 12& 1,920

qSE M 50& 40,0004 2,000




PN HSUHEEARL
N NHSEANEL 29
SXAHSE UFANHA H3(w FSE3A) A HH)

N HE - B9 (3H) - HEAY - BA=S ﬁlgﬁ HRE2
OHMEtHE M 230 10, 0000H 2,300
OLZEXA HZ 502 4000 x 12& 240
OlElE MY dMEel 2t EHE M=
110, 000& 6l 23] 1,320
O3 &l 2,880
— DENEIE TS A2 =X EZ2 Y
AlH| 000) x5H x6 x12& 2,880
OlElE &M ALA = H&
1002 =10, 0000H 1,000
OjRlede ¥ d3gs olss
17,000,000 =1 Al 17,000
ORSH AR(HA)SI 52 242
3,000 «1003] 300
OltElg MHALEE =28 EAIE ME
110,000& *6IH * 13| 660
OGS XXt Al x| 18,0002 *43| x12& 864
02 2% H| 119,152 119,655 A 503
OXNSXUEE ENE S 108,360
—SJ|RE= 2,700 x2 5000 x12& 81,000
e R = 3802 x6,0000H x12& 27,360
Oxzszs2s(s8) 1,000,000 ~1CH 1,000
OXNSXESEHAZ 56,000 *23] 112
OA8 58 RFH 2,000,000 =1CH 2,000
OY9XIANAE X 2244 500,000 x12& 6,000
Ogxxg =68 S 1,000,000 1Al 1,000
O XS XA 65,000 ~1CH 65
Qet3ese= 135, 000& ~1CH 135
O2EsUHE S22 40,000& «12& 480
202 044 2,000 5,000 A 3,000
01 2L I 2,000 5,000 A 3,000
OXsEX e 1 A4 L Nl 2
2 SH0OY| 100,000& *4H x53| 2,000
303 ZAZ2 6,500 6,500 0
01 Za32 6,500 6,500 0
OlEE Mo =
400,000,000& * 1% 4,000
OIEiE MEYXs Hasmt 91X 222 LA
5,000 x500CH 2,500
H AAH (KASXHEEAMEA) 326,029 334, 164 A8,135
SAH(DEAMNTELHS A 232,365 226,553 5,812
A 2AH| 232,365 226,553 5,812
101 Q24| 232,365 226,553 5,812
03 RIAHA*ZZXE S 205,438 200,302 5,136




2AM: X

SAHSEEARA
BE: HWRARY (HSHSSARL)
SHol: Qe (REASSEEIN)
S HD B (SH) - NRAY - BAS O 4t o8 il

ONSXEE HEY g2 X 41,322
—-Jl2= 1,949,560& x1¥ ~12& 23,395
—=254 1,949,560 x 1 5%~ 12& 1,170
— &3 1,949,560 x1H 4 & 7,799
— AX =G 98,850 x 1 x10 989
— H& 50| 1,949,560& 1Y *40%*23] 1,560
— N2 100,000& x 18 x12& 1,200
— st 50,000& *1H *123] 600
— =4l 80,000 x1H x12& 960
—X¥3d 100,000& x1H »12& 1,200
—=&0bl 20,0003 19«53 x12& 1,200
— A2t =& 20,810 x5A| 2tx12& 1,249
O Xtgkze| 428X 41,322
- Ji=s2 1,949,560& x1H ~12& 23,395
- &= 1,949,560 »1H 4 & 7,799
- 254 1,949,560 x 1Y 5%« 12& 1,170
— X 98,850 x1H +10 989
— 9 &SIl 1,949,560 & *x 1Y x40%*23] 1,560
- AN2ad 100,000 x 19 «12& 1,200
wSH| 50,000& *1H x12& 600

= AH| 80,000& x1H x12& 960
PPN 100,000& x1H ~12& 1,200
E&0 bl 20,000& 1Y x55| x12& 1,200
A2t =& 20,810& *5A1 2t x1H x12& 1,249

O IHE gf8=x 81,472
A== 1,949,560 »2H ~12& 46,790
— &3 1,949,560& x2H 4 & 15,597
—asx4 1,949,560& 1 *5%x 12& 1,170
— AX=E 98,850& x2H 10 1,977
— &S| 1,949 ,560& x2H *40%*2 3] 3,120
—N2aH 100,000& x2H «12& 2,400
— st 50,000& *2H x123] 1,200
= 80,000& x2H x12& 1,920
- X84 100,000& 22 x123] 2,400
— =80l 20,000& »2H x5 x12& 2,400
— A2t =& 20,810& *5A1 2tx2H x 128 2,498
OSAME gREX 41,322
-Jl2= 1,949,560& x1H ~12& 23,395
—A&03 1,949,560 x 1H 4 & 7,799
—25x4 1,949,560& »1H »5%x 128 1,170
PN 98,850 x12H x10L 989
= F-=lsl| 1,949,560& *»1H *40%*23] 1,560




2N
X ZH -
L= B
el

o (2
J¥ 0 O
HO Mo >t

s=ae4
AHU (HSASSARA
AU (REARSEE )

)

- B2 (3) - NRAY - BAES il
— AR 100,000& »1H =123 1,200
— wSH| 50,0003 x1H =128 600
— =24l 80,000& x1H » 128 960
- XE+H 100,000 12« 12& 1,200
— S04 20,000 53| x 128 1,200

A2+l =& 20,8103 *x5A1 2t 128 1,249
04 0IZtHZ22 s+ 26,927

OFAM2el R 24,227
—Jlzs 69,7603 x1&H 222 x12& 18,417
- =54 69,7603 x1H 42 «12& 3,349
— 2hAlH| 2,000 «1& #2224 «12& 528
— 2= 69,7603 x1H 128 838
—dEdz B 91,200& x1H » 128 1,095

OJIZHZ 22X 4HEE JI22E= 2,700
—IUALEEHRES 24,927,000 *3.43% 855
— LI RYEERE S 762,000& %10.25% 79
—=UHASRES 24,927 ,000& «4.5% 1,122
—11E2ERE= 24,927,000 *1.65% 412
—MHEERES 24,927 ,000& *0.929% 232

(HSTHSEMRL)(NSALSEEA) 93,664

H(MHSXHSSEMRL) 93,664

yer2 | 59,104

01 AF2 22l bl 27,046
Oget=gH| 20,902
—HE JlE NRES 100,000& »16 ¥ 1,600
SAMI =84 & |RA22l 500,000 »3CH 1,500
—SAIN(EH & 8 2Y)
480,000 »3CH x4 3 5,760
—SAEX7Y 23,0003 =102t A+123 2,760
—cOlIdZele € HAEY 2
237,000 »4CH x4 3 3,792
—Q3J 225 F(LAHEN)
143,000 =108 A 1,430
— W27 2eltl 25,0003 =20 128 600
— &3z Fa 20&*15,000L 300
—NSASEMRL 3tEY S FA2EUES
T (BEEH =5 S 78) 150,0008 «12& 1,800
— 2oZHl =2 80,000& 122 960
— it 2eldi(gaes stEd)
25,0003 =40H 48 400

o=l 6,144

—ASUHSSELLR =& 2 At
8,000& 16 43| 12& 6,144




2N HEISEARL
H: HH2IAH(NSUHEEARL)
@ JI2dH(NSUHSEARL)(RSMLSESH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
02 =224l 32,058 34,165 N2,107
O 23223 % HMA 14,258
—d3SAIE S 50,0003 «1CH*123 600
—olEol MB AHY AR
37,4003 *23| & +12& 898
—dIIABE 800,000& »12& 9,600
— M45t2E MEBE 200,000 *122 2,400
~UENESADL QAN HEDE2
400,000& x13] 400
—SdYs AEZ 30,000 x1CH*12& 360
OAIZ &l =X 17,800
-2 € =& | 5,000,000& » 14l 5,000
— CCTV R X 24| 300,0002! +7CH 2,100
- 2YH WA UPS DA
5,500,000& x 14 5,500
— QA 0o SN2+ 100, 000& *6CH 600
—QEESEY RRE= 200,000 *3H & 600
— AU =2 22 (MF) 1,000,000 14 1,000
—olEA 125 2C SR
3,000,000& =14l 3,000
202 Odl 34,560 44,400 A 9,840
01 =S LHYI 34,560 44,400 A 9,840
OXNsSXUHEFLESR =& 2UHAHHI
20,0003 «16H «102] x 123 *90% 34,560




